4,
t“"e’

5.

PART-A (GENERAL KNOWLEDGE)

As per the constitutional provisions, who has the 1.

absolute and ultimate powers regarding the
passing of money bills:

M The House of the people

(B) The Council of States
(C) The speaker of the House of the people
{D) The Ex- officioc Chairman of the Council of states

As per the constitution of India, the reports of the 2.

Comptroller and Auditor General of India re
to the accounts of a state shall be subm

(A) The President of India
(B) The Governor of the State

(C) The Finance Minister of in (“
(D) The Chief Minister of t te

The Governor of a sta"% appointed by: 3.

(A) Chief Ministgr of the State

(B) Chief Juﬁ of Supreme Court
Presidddt of India

(Dk\w er of the Lok Sabha

n cripps mission came to India, who among 4.

the following was Viceroy of India:
Lord Irwin
Lord Linfithgo

C) Loro Wavell

(D) Lord Willingdon

Which Sikh Guru was executed by Aurangzeb?

(A) Guru Arjun Dev
(8) Guru Ram Das

. Guru Teg Bahadur
(D) Guru Gobind Singh

The most Common measur® (of
Inflation in India is -

A) Price Index
(A) Q\

(B) Whole Sale P "Qéx
(C) Consumer de —\“
(D) Price lné/ !n%dﬁal Goods

O
ux&,smmer & s <O
cytometer By Q0
ectrophotometer (C) « e : o
Calorimeter (D
<
About what percent of area of our country is the 8. HUa s Reaen s Ber gerh 83 @ Rrad
plateau region possessing rich reserves of o, e o, @ @ gy |y 87
minerals, fossil fuels and forests? @ (A) 43% BT 27%
] -
(A) 43% (B) 27% (@) (C) 50% (D) 15%
(C) 50% (D) 15% 60 .
\\)

b
P %

Th \us for measuring increase or 7.
tﬁup v\@»’h plants:

waufs waurl @ s o Riws o 5@ 3 fag
R gofa: qd sraftm sifes B gan B
N

(B) T=-879I

(C) FRE-791 % Faai

‘b@eh: e T i

Y §REE 3 SgER el 3 ) § e wwa
3 Priss od seRmias & shae A dfg e @
(A) 97a 3 el

(B) 171 % IRt

¢
(D) T F PErTE 6\9\
mmm%«%mh’gﬁmﬁej\,\ \\
(A) T % qEmE Q:( N

By Har= e w1 o ;\(QJ \

@) & T ‘}- \\o"\
(D) #rE-a = W

wq Ba P

ﬂf(ﬁmmm'\mqﬁmmﬂ

A TE I 2
TE T AR
)*rﬁ?mwv

m:;mhfawm

oo ¥ vy & omees #  wE W 5ge

7 3 e

(A) P e o

(B) 9% T T EE (\3

ACY I #r geais (QQ’
o‘b

(D) s sl B geu guEs
na;mwdtﬂ%hw«ﬁumq&%mim
e
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9. The planet nearest to the Sun and closest to the 9. ¥4 3 waifwe Fee & yeft @ waifes Pee o
Earth are respectively: -3 w8 T
(A) Venus and Mercury (A) 9% @ J4
Mercury and Venus d 39 gm
(C) Jupiter and Venus (Cb
(D) Jupiter and Mercury #) Elaz i qa gv
10. Identify the mismatched pair: 10. T gifea o2 5 qear:
(A) Smallest Ocean - Arctic Ocean 06‘ (A) TR B TEEIT —— WEeE REEET
Lowest Point on Earth — Mariana Treu%lo M g 7 fyemm s -~ B 3=
(C) Largest Ocean --—--- Pacific Ocean 60 C) BER T4 TEETT - DU SEIRET
(D) Smallest Contmenl-mAustrah%(\ D) #E8 o= i - eEs
11. Which country recently w C World cup T-20 11. &% %3 3 anft om0 1 & s &8, Rwzw 8.2 ‘{)\
match: ' e < A0\ N
\J)
(A) Pakistan o (A) TfEEm 'QQ/ _\
(B) India (B), A7 > D
M Sn‘-Lan?é\ d/ﬂm 2 R
(D) Sov(rgﬂ fica (D) T
60
12. Ts“amount of oxygen required by bacteria to 12. sfaet o @
reak down the organic matter present in a e AR ara
@e certain volume of a sample water, is called: _{Ay BOD
8 (A) BOD (8) COD /.
(B) COD ‘,CA’ ‘Co
(C) BOD and COD both (©) s
(D) None of the above Q \\Q
13. Who is the present Governor of the state of QJ g @1 adtwr  Touar @ B2
Rajasthan? M} Rorr e
(A}, Shivraj Patil w PP —
Smt. Margaret Alva \\v\ (C) 9 ™=
(C) Prabhu Ram ) =2 & 7‘3’ =
(D) None of these
14. Who was recently appointed as” 14. 3vh =@ & F wm ® sEe e T AR .
of BCCI board by the . & wA Few HyE By o 3
(A) Kapil Dev A\ (A e 39 QO
Sunil Gav N \” Y T AT (qe’
©) Sacth/ ks (0) e AT ocb.(
tho\!&}owing countries has become first 15. Preieraa § & @ & 2w 3 wdwaw Araw afafas
% te Act? qift fem: o((\
An}ﬁtralla (A) e (.c’
rmany (B). Wit 60
Canada M
0) Usa LOF L. %‘4
16. The winner of the Sahitya Akademi Award, 2013 m § dmm ¥g wfem swedt sd, 2013
for writings in Rajasthani Language: g
(A) Aaidan Singh Bhati (‘\ \#'r-i fefe wrh
(B). Atul Kanak 00 A T
Ambika Dutt o( ) sEE T
(D) Mangat Badal 06 (o) i A
066 (A-ZI PHIRS-1)
<<




17. The chief election commissioner can be removed
from office only:

(A) By the President of India

(B) By Supreme Court of India

(C), By Union Public Service Commission
Through impeachment by Parliament

18. Hindi movie “Shahid"” won two awards in 61%
National film awards. This film is based on the life
Of: &
% A murdered human Rights lawyer 00
(B) A murdered right to information act‘vb(' .
(C) An Environmentalist (\6
(D) Slums in Mumbai (40

19. Who represented India i ently concluded the
2014 Nuclear Summit held in
Neatheriands:
(A) Manmo ingh
(8) SM.

&ﬁe Khurshid

( ne of these

ZQ.\\%harat Kesri" award is given in the sport

{ee’ (A) Judo w Wrestling

(C) Boxing (D) Maiia-Khambh

21. India’'s first credit bureau through which
commercial banks will share credit history of the
customers:
(A) MCX (8) CRISIL
(C) SEBI CIBIL

22. The outer part of a railway track
a curve is generally raised:
(A) To prevent the fast wear and arog’
(B) To produce the necessary

(C), To produce the necess.

“ To enhance the spe

23.

The number oﬂ@g\d ah%b}ect formed by two
mirrors lmll@@ atan a(\'é\e of 60° is:

(A) 6 r 5

(Cg:{} D) 7

.\\'\

\"‘Mouo of Olympics 2016:

anb:{ \0\\
__gr\\\d). W IE DN DN WD P am wm

(:1’\ " rld One Dream T2, a9 Im 60(
| A your passion g 97 Tuw
‘ nspire a Generation (C) $WmT U ¢
) The celebration of the century (D) %
25. Pungency in chillies is due to: 25. frd 5| B 3:
(A) Capsaicin (
(B) Solanin B) #w@ifw
(C) Isothiocyanates O () ImmERETE
(D) None of these 60(. (D) F8 § #1d =
eo [A __3] PHIRJ-13

17. 9@4 99| g B I6D FAed | ger s w5 B

(A) #a9 97T 3 TEUR &
9T % Fare TEeE aT

(C), ¥9 &% &a1 awar Zm
o e 3 mwfvdm am

N

&%mmwamm “aR” 3 A g

it 7% o BEd e ot amafta 8
% ge dfaer 735 e s st A

(B) W& gu Fam sdwat st v &7 4 H

(©) & valET fag
(D) y=¢ % i T=H
X

\J

MWﬁimﬂm&rﬂmu%

mamammm

(A) "aaEs e x\"\

,(B)/QHQ‘IW Q <
A\

(o)naagzw S
20. ‘g 390"

DA
\\\““
G
(A) =
(©) m\ (D) W—G‘!

19.

27

e s &2
I R e { aftfes ¥
%wsﬁmaﬁm#aﬁﬁ
(8) CRISIL

y CIBIL

&\

EBI

AT ISTET S B:

(A) ¥R 3% & A o B T P RBre o
(B) RS AT F9 39 F13 3 B
(C) HRATE T I FA 3 e~

# T B TR B fg e«g\e
23, 2 i ot 60° Bor T B g B, ﬂﬂlg{weﬁ‘
a4 e A
(A) 6 d/r &5
(C) 4

24. Ity 2016 & “HR” %0




26. The smallest number which should be added to
the number 4577 so that the result is a perfect
square is:
(Ai 48

(B) 48

47 (D) 49

27. Find the sum of first 57 natural numbers:
(A) 1453 (B) 1663 °
(C) 1563 M 1853 | K-

DIRECTIONS: (Que. No. 28 to 31) wng&ould come in

33. The avera of .'Nhembers of a family is 22
yea t )fhber is 5 year old, what was
‘f famuly at the time of the birth ol

1

(B) 22 2

years

(D) None of these

Radhika, Sanya and Devika can do a piece of work
in 36, 48 and 72 days respectively. They work
alternatively, first day- Radhika, second day-
Sanya, Third day- Devika, fourth day- Radhikz
and so on. How many days will be needed tc
complete the work like this way?

(A) 48 days (B) 36 days o(o
(C) 45days (D) None of th

e
o [

<<

PART-B (MATHEMATICS)

006\ o

7 # -4 walfes 91 de 3 A T B
‘Lﬂﬁﬁm:
(A& (B) 48
%7 (D) 49

57 Wigh® @@ § F AT qW B

(B), 1663
1653

(we7 dem 28 B 31) Fr=fefan psf ¥ v o

(A) 1453
(C) 1563

fae

place of the question mark (?) in the fg?Wwing questions (7) % ®W 97 99 /AR N
04 _ 416 _ o18 Q;e 0A 15 . 29 6\0
28. 8"'x4"x2"=7 < 28. § x4 "x2"= A\ N
® » ity
(A) 81 (B) 64 (A) 81 64 > < e\
(C) &4 (D) 28 (C) 84 © 28 o\ A
’ 7 ’
20. 57.75+ 7@9 % of 30 20, SLI5+7=30H7 % & X
(A (B) 265 (A) 25.5 Q ) 5 X
(D) 30.5 ¢’27.5 \Q.\‘
. 1
KOQ Ly 828 = 02071 then - e 30. fiR e ( -?
) 2071 (8) 2.071 v Ty (B) 2.071
(C) 20.71 (D) 207.1 () 2Q° (D) 207.1
Jm-Jazn/zo-JiTs =2 3 \a& Yoo~
% R e
(A), 6 (B) 7 \(Q}“ A 8y 7
3 N TEE B BT Tl
M 8 (D) None of the \ \,\O\&M D) % : R
32. In a class there are 80 students a ragQ\\\az o% -8 80 Furd! ¥ aidfs vhw & v fww ofw
marks in the annual examin &% o wem Rotd = ohwa o 55 B sl
average marks of passed s nd sew RofEd = e 3w 30 B, @ o Ruiddt @
average marks of failed studefis ﬂ find e smEl & 9E%E T
out the number of stude ho failed.
W 'Qf’ v Brd2
) 48 al )\N (C) 36 (D) T & g (\é
(C) 36 \ (Q\Q} one of these )

33. #m%smﬁmmzzaﬂh@g
o e 5 od @ 8, & ®EH eR W B

g aftar 1 frea Ay I 917

(8(&2

60( (o)maﬂé#ﬁ

(A) 21 af
y/za 3

34. iR, mwﬁ’mmmﬁm 36, 48
mmmnm«mamm

- e, gt e a, et RA- A,
- Ut @@ @@ o7 A 39 ate | F
O i @ qu FA A R R @
f 48 = (B) 36 B
(C) 45 fa= (D) T & Fg 7

PHIRJ-11
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35. Shailendra gets ¥ 380 for every day that he works.  35. M F & T 380 W@ w81 g 31
If he earns 2 8740 in a month of 31 days, for how wém # T 8740 Ry ¥, @ 38 Bad Re s
many days did he work? Bm?

(A) 21days (B), 22 days (A) 208 (B) 22 P+
(C) 26 days M 23 days és il Mg .

36. There are sufficient food for 900 men for 72 da 1 36.0900 3 e 72 Ra 3 A wfa diss @ 63
After 63 days, 450 men leave the place. For h 450 =ifer 1 BIEHT g9 T B AW
many days will the rest of the food last for i afedl @ foe PR R a@n?
of the men? o(. A) 16 : @) 178
(A) 16 days (B) 17 dﬂ‘é (C) 5 R N "4 Eg
(C) 15 days v {eﬁvs e <

37. Asum of money becomg(@zeumes in30yearsat 37. @Hm 97 % 4 30 a6l # s; @ m@u\g A
simple interest. Find t& rate of interest? W & 2T Fad? QJ\ B \_\

: - A\
(A) 10% f 15% (A) 10% o 5% Q:{ N
© 12% O (©) 18% ©) 12% (D) 13@2, o
. . \ \

38. A n sum at a certain rate of simple interest  38. w9 uH MiEa & e | AR

nts to 2 1200 in 4 years and 2 1450 in 9 21200 @ 1450 RS B ww @

e(4 years. Find the sum and rate of interest: R ) 5T gan X

{e' (A) T 500, 10% (B) T 800, 8% (A) T 500, 10% . 800, 8%
(C) 2900, 7% ¢ 2 1000, 5% (©) 200, 7% 1000, 5%

39 Find the compound interest for a sum of ¥ 9875 in . g X ¥ wwgfa oo T BT AR
2 years, if the rate of interest for the first year is NG e 6 sftverr wd gEt ad 8 shvem o
8% and for the second year is 8%: N (B) 1399.9
y(, 1426.9 (B) 1399.9 (D) Tt & T
(C) 1639.9 (D) Noneof these _~{

40. Present age of Alka is 8 times of her da s \}&@ # o oy s o @ 8 T 2 =g ﬁ
age. 8 year hence, the ratio of 5 N “Qyam el O SEE T B AY B HIUR 10:3 ly
and her daughger will be 10:3 FoE B FAE g & B?
age of Alka? (A) 30 T% (8) 35 @t
(A) 30 years 35 years (C) 36 2¢ 32-%4
(C) 36 years && 32ye V e

41. Perimeter of e is Jem and the lengtt 41 T 50 cm U9 s oft e W W(\
and the brea n the-ratio of 3:2 respectively “3:2 B amma w1 dwew o @0 4 | 8?0
What isﬁ@ of\f;qﬂngle insqcm? (A) 100 cm’ 8) 125 cm’ (@

(AL 1 O (B) 125 cm’ 150 cm” (0) = A ﬁ%
\j cmf\\\¥ (D) None of these
ﬂz_.\‘l‘he sQll}?y\‘of a worker is first increased by 10% GZW ® ¥ o m@ gfa & ondl ® o
% 48fd then it is decreased by 10%, what is the a% 10% %9 3T 3, o oud ¥ ¥ &
Yy in his salary: ofrads Bm?
R\ 3 o
1% decrease (B) 1% increase W 1 gfem (8) 1 sfawm % gfx
(C) 2% decrease (D) 2% increase (C) 2 4ff 0 (D) 2 wiwm % af
\!

43. By selling a table for T 400 instead of 2 500, los: 4375008 @ 2 400 ¥ 7% ¥ A F= W wfy TH
percent is increased by 10%. Find the cost pric: N A I B A D AR g T
i o™ @ 21200 (8) T 1500
(A) %1200 (B) T 1500 (@) k(9/1'1000 (D) =% & ¢ 7
(C) T 1000 (D) None of these: Q"

o
X% |
<<




scooter in 54 minutes will be

motorcycle in__
(A) 8 minutes %(42 minutes
} None of these
.z_(

red by a

9 minutes

first decreasgg its average speed by 40% and then
increase 50%. What is the new average

?

km/hr

) 81 km/hr,

(4 (C) 84 km/hr,

4 (D) 85 kmihr.

47. A tank is 7 m long and 4 m wide. At what s
should water run through a pipe 5 cm broad and 4
cm deep so that in 6 hour and 18 minutes water
level in the tank rises by 4.5 m?

(A) 10 km/hr (B) 12 kmihr
(C) 8 km/hr (D) None of the

48. The total cost price of two mobi
and their selling-prices are eq
mobile set is soid at a loss of
sold at a loss of 18%
mobile set which is s

o/ 7040

(C) 27740 'QQ;\N

a.
one of these

49. A vende at the rate of 5 for T 14
gaini reby lp For how much did he buy a
6&0{@\
2%\0 (B) T22
870 (D) None of these

olume of a cuboid is 3840 cm’. If the length

/
& /f
‘.v:'»‘\'-ﬁ
- d breadth of the cuboid are 20 cm and 16 cm

respectively. Find the height of the cuboid:

44. A person covers a certain distance with a speed /41 . yd2 5t aw @ % i ge Fives g 8 Bee
of 24 km/hr. in 8 minutes. If he wants to cover the Fon B aft am o ot Bt 6 Fee # w s
same distance in 6 minutes, what should be his arEd & 8 Iu3 99 &9 B afw
speed (A), 28 i, Alw
(A) 28 km/hr. ez Weor

32 kmihr, 34 TRt e
(C) 34 km/hr, 0\(0) 36 . Al
(D) 36 km/hr.

45. A motorcycle is twice as fast as a car aﬁ\ s R g ¥ B @ B @7 i

thrice as fast as scooter. The journey Q o B mEr @ 54 e H owm @t W R

46. The average speed o?a car is 90 km/hr. The driver @m‘fww’r«a o= 90 Rl i ®

Q\\?E) 3 fr-’r e

# IR T =
El@ ?%@16% Edt e A

(A) 10em

12 cm
(C) 8cm
(D) None of these 0&

O
Sl
i@
=% (A-6)

?

e @ e gvg F ag i o
A), 8 2 (8) 12 o=

[V g (D) =7 & Fg T 0‘(

e ® 40% FH HT a0 § UF IS
? guet T ofrea 9@ oW

W

72 18 Fee 7 29 F 9Ff W W 4.

m

(8) 12 fst. Aim
(D) &= & =

#z & T arm 9 T 13600 B F T

T AT #1 qR A SeEw & F @ @ 12

s @ 9T @ e # 18 shwm # @ 9 3w

wmr B @ 3w Aede § @ W T R R RE 18
sager oy 9T = ™

lW'?MO

(C) T7740

(B) 25840 ‘\é
(D)sﬂﬂadhﬂ(q

Rdar T 14 ¥ 5 # 77 1 Ay Feww (Qamu
Famm ¥ 12 ﬁmmauw‘b
(A) 20 (B) X 22

_Wm g & 7

(A)'va.
()sm
(0) 78 § Ff 7
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PART-C (ENGLISH)
DIRECTION: In the following question, fill in the blank in such a way that makes the correct definition of Adverb.

51. An adverb is a word which modifies the meaningofa ............., an adjective, or another .............. g
o Verb, adverb ey NoygaPronoun
(C) Verb, Noun (D) , Adverb
52. In the following question identify the option which is ag’adverb:
(A) A lonely boy 6\ (B) Friendly neighbours
(C) Torise early (®) (Dy A lovely present
53. Four sentences are given. ldentify ntence where adverb is used to describe an adjective. Choose the
correct option and mark your an cordingly:
1. Sita sings well. ) 2. Thisis a very sweet mango Q‘\r
3. He speaks very ﬂuenw 4. She spoke lo me in a polile mapner. \
(Af tonty 00 15 2only QQ?(\’ O
(C) 3only (Q)=3-2-and 3 only \r \.\\% g
.\
DIRECTIONS: ﬁ\e blank with correct preposition. N
o
de'llod ......... Mr. Joshi's car. ( \'\Q\
(B) in (C) from <~Q‘Q.\\‘
GS Ram goes to the office ......... foot:
(A) by o (C)in~ 4
, 56. Helives ......... 45, Dalal street.
A) in v o Q (D) by
57. | have been living ......... P .. twenty years. .
e 2 s
& In. yes' B) at@ ‘{ u_»&_ (D)_pt-from
58. Identify the’correct senbenc;‘}uhem coniinctidn hu\@en used as correlative . Choose the correct option
among cholees:
Mv&si(ed not only Agra, but \5" (8) He not only visited Agra, but also Delhi
(C) He visited Agra : (D) He-notvistted Agra onty;but Delhi also
59. In the following questio ith correct compound conjunction:
He took off his coat .. Q he en the house. e
(A) No sooner \(\, d(\
(C). As soon QJ \—(D) As much as e(\‘
60. Inthe fo (! q@%n. identify the sentence with subordinating conjunction: QSO
Syamust weep or she will die Mber she is mad. or she feigns madneSs
aqbbyed still | kept quiet. (D) | would die before | lied.
tho‘(%owing question, fill in the blank using correct compound conjunction: <! Qo
OrGIVe YOU .:..veveres you do not repeat the offence. O
In order that (B) On condition th
(C) EVen if (0) Because of;
62. In the following question, identify the noun hlvlnq ingular an?@ml alike:
(A) Aircraft (B) Speciks (C) Sheep (D) All of the above
63. Identify the incorrect sentence: 06\
(A) Measles is infectious. <! O (B) His means is small, but he has incurred no debt
(C) Mathematics is his favourite subject. 60 (D) Vermin destroy our property and carry disease

0 ’
ee’(“ (A-7] PHIRJ-13
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64. The correct plural of the word “Commando” is:
Commandos (8) Commendoes (C) Conaﬂptés'e (D) Commandeos

65. Identify theincorrac!plur;orm of noun among the following:
(A) S(gp,.daugm . (B) Passers- by (€) Etéwvls' (D) Maids- servan!
DIRECTIONS: Change the following sentence into mmﬂeﬁ&#@ mark the gorrect opllomyamong the choices given
TN
66. |saidto hir&n ¥ your brother is a brave boy".
S¢AT Ltold him that his brother was a brave boy. &
(8) | told him that your brother was a bra t@o
(C) | asked him that his brother is a br Sy
(D) |inquired him that his brother @ ve boy

¢
67. The girl said, " | must go toélii tomorrow", \Q\

(A) The girl said that mﬂgﬁm go to Deliwtemorrow (\_Q) \
. : had to go to Delhtthe-nextday. »QQ//\ \\

\_€] The girl said that she will go to Delhi the next day.
(D) The girb@ that she must have gone to Delhi that day. Q/

DIRECT! cfhe followmg sentence has been given in reported speech. Changing this i Cﬁb‘ﬁ s @71 mark the
cone from the choices given,

efﬂamsh said that he was busy then.

{QJ Mamsh said, lam busy now" B» Manish said,
(C) Manish said, “Chouid-Sa-sasy now 3 v'amsh sg(

69. Change the following sentence in future perfect continuous

choices given: Q}{\ \\_

| am speaking.
(A) 1 shall/ will be spesmdg r@*}w“l have been speaking
(C) | shall /will have speaking ,( (D) 8 all/will have spoke
N
70. Identify the wrong sentence: C/‘-' _.\\“
\'~
(A) The sun rises in the east (\,}\'\

(B) Heney is sweset
+_{CY Fortune favoured the brave
(D) The next fightis at 7

71. Fill in the blank usin N
SRR my exerci ‘came to see me. Q,O

&yﬂad don& \\.\\‘-\ (B) Did (C) Have done (D) Will have doné@(\‘
DIRECTIONQ&WM(NO 72 & 73) Pick the choice closest to the meaning of the word given in capital
72. WVQ\\ '
(A) C‘Q&mptuous (8) Revengeful Q)/Clruel é@‘?ﬂhuman
PHANT 60( 3
Crony (BY Teligwer (C) Fiatterer @0 (D) Cunning

IRECTIONS: (Question No. 74 & 75) Select the nearest Amonyms of the i&mg words out of the given choices
74. ARROGANT 00
(A) Proud (B) Rude ‘&‘ Servile (D) Humbie
75. COMPASSION c©
(A) Inhumanity (9{ Cruelty 60< (C) Scom (D) Forgiveness
00
0(\‘ [A-8] Gigpdtbe
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PART-D (REASONING AND ANALYTICAL ABILITY)
DIRECTIONS: (Qug. Nos 76 ta 79) Complete the following e (991 &= 76 # 79) Fr=ifafaa ’{E’t"ﬂ Eo qa i

. T 46,32, 67 7

76. 7,15,32,677 (&) 137 (B) 136
(A) 137 (B) 136 &a!a (D) 140
W (D) 140 A

77. 7,9,13.21.37.2 @)49.13. 21,37, 7

(R), 67 O (A) 67
o oo © W 6o
(C) 168 60'(- (C) 168
(D) 65 (D) 65

78. A;ggf E512)1 216, M 64, ? ZEA 1000, E 512, 1216, M 64, ? Q{
* @ N W as Al
(B) Q18 O'b (B) Q18 «‘SQ:{\’ \;\ )
©) S,i. (C) S88 ™
©Es) o‘(\ () P8 \(QJQ» A >

79. 2228(831036494057 W.so.uosea ?\‘\

(A) 7 &-\“

o 3 (B) 3

(C) 4 (C) 4
(@ 8 Wt
DIRECTIONS: (Que No. 80 to 82) e (9

§ P.Q R S.TandU are travelling in a train (}Q,Q
(s) There are two reporiers, two teachers, ons ‘QQJ ;5» E _;[—_!?L

professor and one Doctor in the group.

(i) The professor P is married to S who is a reponi m frame 3 % S i %i/
(iv) The Doctor is married to Q who is in 0 ) ST R AR O # o LRI

profession as that ‘U’ W \\,\\ ’ - k,m—@ e
(v) P, R, Q,S are two married co N ® P.R. Q.S A Rafm @ ¥ ol ot @ 2 @

in the group has same profes ma Qﬁ z;.;; Eril 1 \
(vi) ‘U’ is brother of R e wi) ‘U’ R 71 9 B

80. Which is the following t\»‘ér of ¥ W ¥ ] Pa-a1 sier Auw = ¥’ e

"FRRS o
(g) :oT N ' ,_}\”\\ ) PT (e’e
©) i W (©) == & 5 ®

is, @ relatadito U; 81. R#% U & 31 sy B7

\M" \-/,g &
o f () wig ©
®) ¥ 8ot

' (C) @r=n

o
3 annot be determined o HE
. o Pt gﬁh
Which of the following is a pair of husband? 82. ﬁ'ﬂw / Fa-ar ey ofy @ 87
A PQ @ $Q
(B) QS (B) @S
(©) PR & (C) PR
Cannot be determined (.0 = B o ae
60
T
= PHIRJ-1
(30 [A-9] :




83. Aand B are brothers. R isthefnthef'?fiﬁthe %{Aﬂt BewmRAMRY TS F g T
only sister of S and S is the maternal u 6 of A3 ‘S’ A® AP B T # R A F g 7
How is T related to R? (A) uE
(A) Brother (B) =
s){ Sister 'gég‘

Wife &l
(D) Mother (o)

84. Three of the following four are alike in a cerfh mAddf R s i waEdd
way and so form a group. Which is the ocﬂ at i oF wEE W P s § B-w 8 W e @
does not belong to the group? 60( g wataa st 37
(A) Learn e(\ (A) draEar .
(B) Study N (B) weA 0\
(C) Knowledge &e ey wm A o
(D) Read D) TE , 3

85. From amongst the given alternatives. Select the %ﬂ‘i T et F @ e R g Hﬂ,{'\iﬁf
one in whi set of numbers is most like the ' waifts e s aen Rae m <
setof n rs given below: 6. 14. 30 o O B
s 1 a . » ] ' 0 .\\\\

W) A 7,12.22 A
7,12, 22 (8) 8, 16,20 ¥
@(“‘(B) 8, 16, 20 (C) 5, 12,20
(@&~ (0) 512,20 (D) 4,16, 28
(D) 4,16, 28 »\f

86. Which one of the given responses would be a 3331 #w #r2 B o Reedt F @}

meaningful order of the following words? '

i. Family

il. Locality e

i. Member .Y i R !

iv. Community *{\\0 V. S

(A} (). (), (), (D) A A ‘\ . ol

(B) (i), (). (), (i) v 8 (@) ) (.

(C) (). ). (@), (v) ) & DGV

(D) (lli). (ll), (1), (IV) DN (X in) Il.) .:vp’\
\! ISHTAER

87. Which of the followi : %ﬂm # q Br-w e R o T

best relation [} %93 Females and ney wdde e qatar B7 Q,(\
X 0(4
Qgo @
) >
¥




88. 1f841=3,932=5625=8then828=7

(A) 9 (B) 8
(C) 12 (D) 7

Manju walked 30 meters towards East, took a righ
turn and walked another 40 meters. She again too}
a left turn and moved 30 meters. In which directior
she is now from the starting point?
(A) East

(B), North East 6\

South East c©

(D) South o( .

DIRECTIONS: (Que. No. 90 & 91) E:gh@ﬁ% ons A, Bek,
D. E, F, G and H are sitting arou round tablé¥sting

opposite each other. o)
O&cmg D

() Aisfacing F and
() His to the right of 5 who is not near A

(i) Cistothelgftof G
(iv) Bis fzﬁﬁ and E is to the left of C.

89.

90. Eis een—
and C (B) Gand F
o ) Band A (D) Band D

le§1. Whom is C facing?

v

() E
(D) None of these

DIRECTIONS: Select the suitable alternative to satisfy
relationship in the.followina auestions.

92. Book : Publisher: :

A), Oireclor «

Film:

’

9
C@

»,L\\\% T&S © s ¢ R

A) P (B) #=%
Producer (D) =9%
DIRECTIONS: The followin -@L Fee Frefen o8 B e & R ™ B o) Ree @ N
symbol form. Select the c‘\:\‘ at ygpresents the given 7 1 41 % §ew @1 gddw gffafee o @ eO
number the best. Q \\0
e 28346622 (00
93. 9934662 DAl s
Vv A \F Uf//,._- 43, c?
BY T2 538 TaY
(BQ‘} - v\\Q’\— CI*QV - \-'—;’. e 4 T ’v T &
D)ed ¥ >divV?
ep Nivvt 00
is 10:00 am in Cologne (Germany), the time %_(aﬁ) A {\% AM Brar 2 7 el (wmea) #
ethi (India) is 2:30 pm the same day. Rajiv 1 2:30 o B ol X FEs | Rel
ught a flight from Cologne to Delhi at 2:30 pm 7 m 23@PM T (I & 899 3 IFER) @
(according to the time of Cologne). At what time | Rl @ @ @ oger Rel 3@ @
will he reach Delhi by the time of Delhi if the flying qgaﬁ'zﬂ% TERE F I3 {EG 4 €2
time of the flight was 4 hours? (0 (A) 10:00 PM (B) 6:30 PM
(A) 10:00 PM (B) 6:30 PM o) W-oo PM (D) 8:00 PM
¢/ 1100PM (D) 8:00 PM <O
60
N .
e(x\e’ [A-11] i

8. 3R 841=3,932=5625=8 a 828= ?
(A) 9 (B) 8

12 D) 7

89. W9 30 #Hrex gd N I g B, =@

P

(B)’FW??.’

%zﬁmga

(D) =T
ra%vr:(mé@rgoqzignmmhsA.e,c.o.e,F.;{
T H OF e 39 9T F-gE7 & RydE gm e 2 Q

() A FEF H AT E A7 G2 ga D I |

) HBEsdisniaimAzZ N

(i) ‘C'G ¥t T ¥ — & &

(iv) ‘B enqvasa?laﬁvam( &'e =i &
g0, E Moed mey ¥- C,é(b:\ oo™

AudC Gl F
(C) BmE A ‘Q"

\%r;mﬁaanﬁﬁaa%mﬂﬁwﬁmnﬁ




z?'e’

95.

96.

97.

98.

: N e
s 69 v

99.

A7)
If ‘GENERAL' is written as ‘'JHQHUDO' then W%ENERAL' ‘JHQHUDO' fran aren @ &t i
‘STUDENT' can be coded as— T Pz 7 'STUDENT’ &t 33 Rrdt:

(A) UWVXGHW (A) BWAXGHW
(B) XWVHGQW (B) XAVHEAW
(C). VXWHGQW QRWHGAW
9{ VWXGHQW VWXGHQW

One circle and three capsules like figure are fr=rfefera Tafem 3 o g9 od &9 dvge o @ R
represented by the diagram below. Y repre PRRmE Yyma eitsmdawz
the circle and W, Z, X represent capsul he X W g s & weffes 5@ B Bow W # 7y
middle digit number of which capsuS&presents 3T deq 3R T A 3% wemal & hwa el

the average of its rest two digit nu w7 B
()
zY 60(4 Y d{
4
\ /% 4\ N
MAEOHODD s WAECODDR QT
3 ‘\{ \\3
3 N
\‘.
(A) Y 06\ “J) z A Y Q«QJ \‘\3’
(©) xo<.° (D) W & X o o
boys A, B, C, D and E are sitting on the il @%3 A, B, @E’ﬂ'&&wmﬁﬁ
ladder in this way. E,is-above A, C under B, B ‘A’ B - Z 78 B EAR “;a_
under A and D above §. Who sils at the bottom? g ‘D' B ‘C’ = N 4
(A) DorC (A m&
(8) D (8 % \¢
(C) B 0'\'"
Ve w‘% &
If ‘Water' is called ‘air’, air iSg@ed ‘green’, gnen% '@ ‘arg’ Fm oo B, ‘g’ @ ‘e @ wmn
T w e LA o

is called ‘Rosy’, 'Rosy' is talled ‘iron’,

called ‘Red’, ‘Red’ is called ‘Rain’, ‘Rain’ @ﬂ \ 3 LI sl s A B
‘tree’, ‘tree’ is called ‘Road’, 3 e S Gy oo 3T T B ‘wew W
colour of human blood? a J Tt A TmEwmE TR 22

(A) Water al ’ R

(B) Tree Bl 9%

If 18 January

(D) =
Q alls qaﬁ‘ue‘;_day. WWIIIW ;}9’39 B e B, At 18 Wg‘as
- ?

\
. ‘\;\Q\\ (A), HraEr
ﬁgiy (C) FrwrfEam c'O(‘\
ore of these (D) ¥ & # 74

0 .
digit will appear on the face opposite to the Wﬂ b1} %@ 4 & fvln ga8 9 FH- AiH

2 6 6
15 s |3 Yl RS
3 (B) 5 3 B) 5
,8’2 (D) 6 00‘%%{’2 :o; 6
oo
e(‘
0¢‘ [A-12) PHIRS-13

N




